SH6F6H

» % '#’Q' Yy =7
Nt BB 55

& AHONICONT

S — el
=T v |
_.f' 24 VAR

- J_ﬁ_m%m “%éhﬁ%%?E%TMéé%Hlfﬁ?{
TBREDERAT + TEED, EBSNBINT
L& SN ? ARDOBIEBNARIC L DR EEE
TERBITFT, HIZIEECARETS,
D SBENERDD OFEEED

@ BONIOEENBENED
DZDORIROEOEAET BE. MBERFET
EERLBL. BELBICRESELET,
CNE TISY—RPR & T J—Y—R
8] EENVFET,

TEDICEERS. BEENR 0T
NIZEFEZOERBIETIKTLLS L, [
BWITATERZL. BOICETER &S5
TNBEND TR, BNBRECHFTEIEY
b FFIRIES A TENRE] TR TR0
BENEEEHNTDECINSBOTHEL
£3, MYF 1 THEN BIERESIZSE
20TY,

)

)

FMRERTE ST 8 TR E T T2

BHAABICOIT
(RifEZ0R>
1s+B : 7/23 (k) ~ 1/26 (8)
2ndB® : 7,28 (B) ~ 7/31 (%)
3rdB®2 : 8/ 2 (&) ~ 8/ 5 (B

4+hBiz : 8/ 7 (k) ~ 8710 (%)
%7/21(B). 22(R). 27(x). 8/1(K). 6(K)IFHBATH.

%8/11(B)~18(B)IFHARMAKHELGLIZFT,




ﬁ Y A . '. . ’."— . o AR\ —
P . SR iy T
> = 17 | K
2 [ w w28 18 | AN
3 7K 19 | &
A T
= 20 | T
; = = 21 | B K28 \
e 2 | B A=
’ 7 8 = 23 | N ;
. . 5 o T K EHEERRE>
1s t :7/23~7/26
V|
9 | W 2% | A | 2nd:7m28~7s1
TR 6| ® | N\ 3rd:82~85
TR 27 | T |KEB \ 4th :8/7~8/10
= = 28 | B /
TR 29 | B
7| 8 s 30 | W
15| A 31| K
16 | W
- (@ 5 ) ~
HEB(COL) .
<EMRBCONT> <EHIRBOOBEBBECONT>

ISBETY,

=0,

.

BERHHEE 1 F£T1 BFBREREERTTIAL)

CIDDITSIZEN, S, BHIESRESP VT
—hEEHLIINT, BFHEETRELTE

BHEETRARCLEEREEIDLD

BB TIIERERLEBRH
DEVNKSICRENLET, BSLHDSRNCEDLDHD
ROIIBSHEEFT TTERIES,

DEI. BEEZ

/

& D BEAEENIO) FiEE

ZRRTI DN

PR TaR e ¢

250120,
IONEE UNGR

13, L.
E2ECE,
AD?

TE. RILWUTLEE, BEZEHIDCEICBE

LWDTI,

b VICERTZNEFED

BERITERREUREYHD. DUEE ULV
| Lad. BEVEBRBNGDEBNET, STEERUETIICHTO. RBLTN<BRTHFA U REHSTL
BN LR BESESHTNBRRIC, BORHERDEYT, BODHBERNSERREHIC '
BURCEIIECHREICENDIEERABREBNET, MFETIDLS. DUBHLTITRILTHEE

S DV

B, [FHEZIICTE, BORBOATNRN] ENWDTERHDEEAN ?ERTIEF v 1 ADB
DTCHEZHATINETD REEZDENEF A, BERNOSEHZRICUBASBC LTSRN ESTEZR L

NBNWANICRIITODITENHOET, ZNIE. [17ECE
DETGHEZIITDCE] T, BRI, TREFEENTNSD—DZ23XR-—IEHD] It UICIToEoRE
BORRETHZ 1 DRBZAD] BEENOERUTTI, TNTUENDRNKDIC,
—BRZMBOLEDLUT BNEEDLICUTREX L&D, FIDDHCE |
ERLBIBNDEDICLTRSERNT

[REFICT-D ] EBNEN

DDE* "

S',

.

v ﬁﬁﬁ?ﬂé 0228 23-7

AN

‘/ 239 High Field /\ 1 7 1 =

2

é

= A=
02'28-25 4677

+ | 553



